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QUESTION 1

Examine the attached diagram Two AOS-CX switches are configured for VSX at the access layer, where servers
attached to them. An SVI interface is configured for VLAN 10 and serves as the default gateway for VLAN 10. The ISL
link between the switches fails, but the keepalive interface functions. Active gateway has been configured on the
switches.
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What is correct about access from the servers to the Core?

A. Server 2 can successfully access the core layer via the keepalive link.

B. Server 1 and Server 2 can communicate with each other via the core layer.
C. Server 2 cannot access the core layer.

D. Server 1 can access the core layer via both uplinks.

Correct Answer: B

QUESTION 2

Which statement is correct regarding ACLs and TCAM usage?
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A. Applying an ACL to a group of ports consumes the same resources as specific ACE entries
B. Using object groups consumes the same resources as specific ACE entries

C. Compression is automatically enabled for ASIC TCAMs on AOS-CX switches

D. Applying an ACL to a group of VLANs consumes the same resources as specific ACE entries

Correct Answer: B

QUESTION 3

The company has just upgraded their access layer switches with AOS-CX switches and implemented an AAA solution
with ClearPass. The company has become concerned about what actually connects to the user ports on the access
layer switch, Therefore, the company is implementing 802.1X authentication on the AOS-CX switches. An administrator
has globally enabled 802.1X, and has enabled it on all the access ports connected to user devices, including VolP
phones, security cameras, and wireless Aruba IAPs. Wireless users are complaining that they successfully authenticate
to the 1APs; however, they do not have access to network resources. Previously, this worked before 802.1X was
implemented on the AOS-CX switches.

What should the company do to solve this problem?

A. Implement device-based mode on the IAP-connected AOS-CX switch ports.

B. Implement local user roles and local forwarding on the AOS-CX switches.

C. Implement downloadable user roles and user-based tunneling (UBT) on the AOS-CX switches.

D. Implement AAA RADIUS change of authorization on the AOS-CX switches.

Correct Answer: C

QUESTION 4

Which protocols are used by NetEdit to interact with third-party devices? (Choose two.)
A. telnet

B. SNMP

C. SSH

D. Restful API

E. CDP

Correct Answer: BC

QUESTION 5

A network has two AOS-CX switches connected to two different service providers. The administrator is concerned about
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bandwidth consumption on the service provider links and learned that the service providers were using the company as
a transit AS.

Which feature should the administrator implement to prevent this situation?
A. Configure route maps and apply them to BGP

B. Configure the two switches as route reflectors

C. Configure a classifier policy to disable MED

D. Configure bi-directional forwarding detection on both switches

Correct Answer: A
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